SIMPLIFYING THE TAX CODE
An ideal tax code would be based on three easily understood principles:

· All forms of “income” must be taxed.  
· All forms of income must be taxed at the same uniform rate. 
· The system must be progressive. 
The first principle ensures that we count everything we receive in determining our tax liability.  Our yearly individual tax should be based on the total value of everything received during that tax year.  It shouldn’t matter whether we earned a wage, received interest or dividends, received short or long term capital gains, inherited it, received it as a gift, or won the lotto, it would all be taxable.  Except for an exempt amount to be discussed later, everything would be subject to the tax.

The second principle ensures that we have a single uniform tax rate that applies equally to all tax payers and to all forms of income.  To compute your tax, you would calculate your total income from all sources, decrease that amount by your exemptions, and multiply the remainder by the uniform tax rate.  

The third principle ensures that those who make less pay less, and those who make more pay more.  We have a progressive system now, but there is a far simpler means to that end.  If we enlarge the individual exemption substantially, grant it to everyone equally, and eliminate all the other existing deductions, exemptions, and credits now complicating our code, we can have a simple yet progressive system.  As strange as it sounds, a flat tax coupled with a large uniform exemption allows us to maintain a progressive tax system by exempting receipts at the bottom of the scale rather than by increasing the rate as incomes rise.    

Consider the following:  If we have a “minimum wage”, the yearly equivalent of that wage should logically be exempt from taxation.  Let’s assume an annual minimum wage of $15,000.  That amount becomes the individual exemption.  A couple gets twice that, and each dependant gets 50% of the base amount.  The exemption for a couple with two kids becomes $45,000.  A “head of household” gets 1.5 exemptions plus the same 50% per dependant.  A minor filing his or her own tax return gets a full individual exemption, but can no longer be claimed as a dependant.  When the minimum wage is increased, the exemption is increased.  Everyone gets the same treatment: It doesn’t matter if you’re actually making the minimum wage or if you’re a Wall St. tycoon, the same rules apply.  

By enacting a substantially larger individual exemption, we enable the elimination of the Standard Deduction for those who don’t itemize, and Schedule A for those who do, plus all the tax credits currently available on the second page of form 1040.  Charitable giving would be the only remaining deduction.  Such radical simplification would be feasible because the new minimum wage based exemption provides a reduction in taxable income that is greater than both the current Standard Deduction and most itemized deductions.  On a 2004 tax return, a family of four can reduce their taxable income by $12,400 (4 X $3,100) with the Personal Exemption, plus $9,700 for the Standard Deduction for a total of a total of $22,100.  That’s $22,900 less than the $45,000 exemption available under the minimum wage based exemption plan.  If that same family of four itemizes, they would need $32,600 in itemized deductions to exceed the new minimum wage based exemption amount.  

Besides simplifying the tax code, these ideas would both decrease or eliminate taxes for the lower earning segments of the population and dramatically simplify the way we tax ourselves and the complexity of filing our returns.  Such a plan would also simplify the way congress determines the uniform tax rate.  An appropriate agency could estimate what the total personal income might be.  That number becomes the denominator in a fraction, and the proposed federal budget becomes the numerator.  My guess is that the calculated rate would be less than 28%, the current rate of the Alternative Minimum Tax. 
This same set of simplifying concepts allows us to eliminate the corporate income tax without eliminating the revenue currently received from that source.  If we adopt the idea that we tax all forms of income on our personal returns, the earnings of corporations would become personal income for the shareholders of those corporations, and the shareholders would pay those taxes in full.  This not only eliminates the current double taxation of corporate earnings, it eliminates a good part of the enormous costs of compliance now borne by both the IRS and corporations.  With today’s technology, there is no impediment to computing and reporting the quarterly earnings of every individual shareholder.  Those earnings would be one of the amounts accumulated on the personal income tax return, and taxed at the uniform tax rate.  Since corporate earnings have already been fully taxed, dividends would not be taxed, and their distribution would remain at the discretion of the owners of the corporation.

A final benefit of this plan is that it allows us to eliminate the estate/gift tax, again without eliminating the revenue currently received from that source.  When we tax all forms of income uniformly, we radically simplify the taxation of transferred wealth.  All transfers would be taxed to the recipients, who would pay the uniform rate on what they receive after applying their proper exemption.  This would allow parents or grandparents to choose when and how they transfer their wealth.  Most significantly, it taxes the recipients rather than the elders or their estates.  

That’s it.  Three simplifying principles can eliminate the chaos in our tax code.  If we receive anything of value, it’s taxable, and at a uniform rate.  We remain progressive by applying a larger but uniform personal exemption, and applying it to everyone.  We have corporate shareholders pay the corporate tax as part of their income, and we tax the living, not the dead.  We can have a simple tax code!
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